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(the last sum is to be taken as zero if/7? = 1). Further sums can be obtained by continued differentiation of all 
the previous sums containing at least one parameter. 

Some of the sums given here appeared as problems in the Mathematical Tripos. A number of these are given 
among the exercises in Chapter XI of T. J. I'A. Bromwich, An Introduction to the Theory of Infinite Series, 
MacMillan, London, 1947. 
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In [1 ] , Huntley discusses some of the properties of the golden ellipse; that is, an ellipse whose ratio of the 
major axis to the minor axis is 0, the golden ratio. For example, Huntley shows that the eccentricity, e, of the 
golden ellipse is 1/V/>"- This note is an examination of the golden ellipse as a conic section; see Fig. 1. It will be 
assumed that the plane does not pass through the vertex of the cone. 

Figure 1 

In [2] p. 355, it is shown that the eccentricity is determined by cos a/cos f$ = e, where a and (5 are the angles 
in Fig. 1. Furthermore, for ellipses, (5<a< 90°; 

In Fig. 1, the angle y is formed by the intersection of the plane and the cone, in the plane through the axis of 
the cone and the main axis of the ellipse (easier seen than said). This angle will be referred to as the angle formed 
by the intersection of the plane and the cone. 

Theorem, If a and 0 are such that sec a = 0 and esc 0 = 0, then a and 0 are complementary, and the plane 
intersects the cone at a right angle, forming a golden ellipse. Conversely, if the plane intersects the cone at a right 
angle, forming a golden ellipse, then a and 0 are complementary, sec a = 0, and esc 0 = 0. 

Proof. Firstly, sin 0= 1/0= cos a = sin (IT/2 - a). Therefore, 0= TT/2 -a. From Fig. 1 it follows that y = 
7i- (a + 0). Hence, aand 0are complementary and 7 is a right angle. 

Recalling that 02 - 0 - 1 = 0 , 
cos/3 = V I ~sin2/3 = V I - 1/V02 = V(02 - D/02 = V 0 M 7 = 1/V0 • 

Since cosa= 1/0, e = cos a/cos 0= 1/V0, and so the ellipse is golden. 
Suppose that 7 is a right angle and the ellipse is golden. Then, cos a/cos 0= 1/V0 and since 

TT/2 * 7 = 7r- (a + 0), 
a and 0 are complementary. Thus, cos 0 = sin a. Now, V 0 cosa= cos j3 implies that 

0cos2 a = cos2 0 = sin2 a = 1 - cos2 a . 
Therefore, cos2 a= 1/(0+ 1)= 1/02 and so sec a = 1/cosa = 0 . Also, 

cscjft = 1/sin0 = 1/cosa = 0 . 
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